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02 MBI 2HEHSFHS(HAANS, XLHE) 34,817 46,900 A12,083
OOISUSAIL(H0HR) AFS ALY X
e 34,817,000& 34,817
AltI 34,817
OtS2SAIZ(0HorR) erdze] ¥ E20hd X2 5,525 2,965 2,560
AlHI 5,525
307 21201 & 5,525 2,965 2,560
Albl 5,525
10 AlISAAIEEE 22X 5,525 2,965 2,560
OOLS2AFAIL(0H0H) ere2te| & 3N
&l X& 5,525,000& 5,525
AltI 5,525
QES0ls ZSHEIIE(otsH) 22 97,793 82,443 15,350
= 39,117
Al 58,676
307 gl2to| & 97,793 82,443 15,350
= 39,117
AlHI 58,676
10 Al SXAEEE 22X 97,793 82,443 16,350
OSSMEIIE 2EHI(¢=248]) X
97,793,000& 97,793
= 39,117
AltI 58,676
QES0ls ZSHEIIE(ot=H)2E (AlH]) 63,769 58,644 5,125
AlHI 63,769
307 212+01& 63,769 58,644 5,125
Al 63,769




SH: =NEMY
33 Ors=A gd
thel: Ol sEs (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 ABIS XAl Z 2SI 2 47,321 42,19 5,125
OZSHEINE BAX =X+ N
15,720,000& 15,720
AltI 15,720
OSSUEIHE SAL SXRUE XIH
400,000& 400
AlH] 400
OREMEINE BAX A2 224E
1,912,000& 1,912
AlHI 1,912
OsttiIlolotSHY SSHEINE 2SI (
HelXIZ A 28,389,000 28,389
AlH] 28,389
OIS SMUaIIE ot™aeld X
900,000 900
AlH] 900
11 AMRISXAEEES 16,448 16,448 0
O=sdets 250t XA
16,448,000& 16,448
Alt] 16,448
sttimchols e (2=Y) 29 237,182 180,305 56,877
= 94,872
AltI 142,310
307 212+01& 237,182 180,305 56,877
= 94,872
AlHI 142,310
10 Al SXAEEHE2EHI2x 237,182 180,306 56,877
Ostiiulchots dH 2¢
237,182,000& 237,182
= 94,872
Al 142,310
SHHTIGHOlSEEH(Z=Y) 2SR (AlH]) 27,331 24,200 3,131
Albl 27,331
307 el2tol & 27,331 24,200 3,131
AltI 27,331
10 Al2ISTIAIEEE 22X 20,751 17,620 3,131
OstiiUloiotSaEE SAMA X+ X2
17,760,000 17,760
AlHI 17,760
OstHIIHOtSHE SALL SXZE K&
600,000 600
AlH] 600
OSIHIIHOtSEE SALAF Altel=+=E XI&
2,391,000& 2,391
Alt] 2,391




2A: SXFH
33 Ors=A gd
thel: OlEsEs (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 AMEISXAEEES 6,580 6,580 0
OstiLloiOtS &l Ot AXSH At
A& 6,580,000& 6,580
AlH] 6,580
A0S =8 N 195,600 106,200 89,400
AlHI 136,920
Tl 58,680
301 EtE N = 195,600 106,200 89,400
AltI 136,920
-l 58,680
02 A EEHS(FANE, XLETHE) 195,600 106,200 89,400
OJIHFIE0IE PR+ g
195,600,000 195,600
Altl 136,920
Tl 58,680
YRS RS54 XA 5,000 1,500 3,500
AlH] 3,500
T4l 1,500
301 EtE N = 5,000 1,500 3,500
AlHI 3,500
Tl 1,500
02 ANRI2HALFS(HAAS, XNLHE) 5,000 1,500 3,500
o9& ds=3728 N2
5,000,000 5,000
AlHI 3,500
Tl 1,500
IIERIEOts S HetsSs X 21,000 24,500 23,500
AlH] 21,000
301 EtE NS 21,000 24,500 A3,500
AlHI 21,000
02 ARSI 2 X LGS (FHAAHS, W) 21,000 24,500 A3,500
OJtg9I80ts S HssE3 Ad
21,000,000 21,000
AlHI 21,000
FII0ISIHEES ALY 13,000 0 13,000
= 9,100
Al 3,900
301 LEtE N = 13,000 0 13,000
= 9,100
AlH] 3,900
01 Al EE A S(FRDEXMA) 13,000 0 13,000
OdE0tsE=H] X& 12,000,000& 12,000
= 8,400
AlHI 3,600




A SXNEH
ma: ols=x EHAl
o742 Ol sEs (CH9: &S1)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OotsE=72H A& 1,000,000 1,000
= 700
Albl 300
Hd2oHE R d20lsEsHl X 24,000 0 24,000
= 16,800
AlHI 7,200
301 22N = 24,000 0 24,000
= 16,800
AltI 7,200
01 AR 2EHSHS(RNEXRTHE) 24,000 0 24,000
OFSIIESIE SO S N
24,000,000 24,000
= 16,800
Altl 7,200
2 - IHE RS Ots delxl=zll N2 11,410 3,000 8,410
= 7,987
AlH] 3,423
301 2N = 11,410 3,000 8,410
= 7,987
AlHI 3,423
01 Al 2E A S(SREXME) 11,410 3,000 8,410
Oge - JHERIg Ot delxi=dl X
11,410,000& 11,410
= 7,987
AlHI 3,423
YOS IHE XA 162,000 108,000 54,000
= 113,400
AlH] 48,600
301 2N = 162,000 108,000 54,000
= 113,400
AlHI 48,600
01 Al 2E A S(SRNEXMHE) 162,000 108,000 54,000
OYUAOIE B4 X
151,200,000& 151,200
= 105,840
AlHI 45,360
Ogg=a2t 2XUX&S K&
1,400,000& 1,400
= 980
AlHI 420
ogtHlE X 5,400,000 5,400
= 3,780
AltI 1,620
Ogg=ot=s N 4,000,000& 4,000




SH: SXFE2D
ma: ols=x EHAl
thel: OlEsEs (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,800
AltI 1,200
2Ataiots 220l A& 6.000 0 6.000
= 4,200
Al 1,800
301 EtE NS 6,000 0 6,000
= 4,200
AlHI 1,800
01 Al EEHS(FRDEXMH) 6,000 0 6,000
LA 0ls 2= XA
6,000,000 6,000
= 4,200
AltI 1,800
2SEI0tS NE==E X 488,750 324,000 164,750
= 391,000
Alt] 97,750
301 eEtE N = 488,750 324,000 164,750
= 391,000
AlH] 97,750
01 Al 2E A S(FREXMA) 488,750 324,000 164,750
OE2ZE=0ts IHE+g XE
488,750,000 488,750
= 391,000
AlHI 97,750
2SES0ts M= N2 80,000 90,000 10,000
AlHI 65,000
Tl 15,000
301 EtE N = 80,000 90,000 10,000
AlHI 65,000
-l 15,000
02 ANBI2HHSFS(HAAS, NLHE) 80,000 90,000 10,000
OANZEIx0ts NEEES K&
50,000,000 50,000
Al 50,000
oJggots MHEdss N
30,000,000& 30,000
Albl 15,000
Tl 15,000
ors2g NAZCISNASH) N 660,609 660,608 1
= 462,426
Altl 198,183
301 EtE N = 660,609 660,608 1
= 462,426
Al 198,183




A SXNEH
33 Ors=A gd
o742 Ol sEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 660,609 660,608 1
Oots2e X2AH(CISNASHE) X
660,609,000 660,609
= 462,426
Al 198,183
A Xsots HEXH 3,500 0 3,500
= 2,450
AlHI 1,050
301 22N = 3,500 0 3,500
= 2,450
AltI 1,050
01 A2 HSHS(RNEERTHE) 3,500 0 3,500
O3AE XSS NHERE
3,500,000& 3,500
= 2,450
Al 1,050
OLSSIU AL B33 AL 7,980 7,188 792
201 fer=3| 4,980 4,188 792
01 AtR2t2|H] 3,000 3,000 0
Oots=itHoe U= & 82
3,000,000& 3,000
2 352484l 1,980 1,188 792
OFUd= 2= 33,0002 +5CH~ 122 1,980
307 el2tol & 3,000 3,000
01 22X+ &H| 3,000 3,000
OlloiOts XI=Hl % AL &
3,000,000 3,000
OISE38523 AUl 22,000 22,000 0
= 17,600
AltI 2,200
Tl 2,200
201 ZBt=3hl 8,000 8,000 0
= 6,400
AlHI 800
Tl 800
01 At2teltl 6,800 6,800 0
OoJl2=gl 6.,800,000& 6,800
= 5,440
Alt] 680
Tl 680
2 s5=34l 1,200 1,200 0
Os&=4gl 1,200,000& 1,200
= 960
Alt] 120




2A:

x‘|il—|:

X=]

© Ot

q XH7)

SINESES N}
X| BEA

OI-C)

S o

HL J}ﬂ 0

S - B

- SRA(3) - HIRAEY

- ESS

Ofl &F2H

HMEE
Ofl &k2h

-l

120

AltI
-l

14,000
11,200
1,400
1,400

14,000

01 Al EEHSES (2R

OAMHIAZ2SEHI

14,000,000

AlHI
-l

14,000
14,000
11,200
1,400
1,400

14,000

2,200

2,29%

NS S}

2,200

2,29%

AN® S}

2,200,000&

2,200
2,200

2,29

N95

ﬂ

Otj;”

=N

8,000

7,000

1,000

FAHESF=HAA

8,000

7,000

1,000

SR UOHIE XI&

8,000

7,000

1,000

307 212t01™

8,000

7,000

1,000

11 ARRIS XA E X
OZSFUOIIIE Lh 2ot

on
=

=

8,000,000

8,000

8,000

7,000

1,000

o2

F2gZH(SAEH)

(Y]

AltI
-l

658,753
185,340
98,690
67,393
307,330

622,147

36,606

re
1y
H0
02
(=

4 =" W
g =

583,628
185,340
98,690
67,393
232,205

530,904

52,724

SEAtI2t2IAL 2148 NI~

s

Ly

AltI
-l

206,709
84,690
42,345
79,674

212,079

A5,370

101 @l

y
o

s

[uls

AlHI
-l

191,581
81,090
40,545
69,946

188,624

2,957

,436,000& x5

191,581
191,581

162,180

188,624

2,957




2A: SXEA
. HY2IZU(SXEF
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
iy 81,090
Altl 40,545
=t 40,545
Sc|F M| 29,401
-tEg 180,000& x 123 2,160
—H g A 140,000 x5 * 12 8,400
-“HESOHI 1,921,550 *5H 9,608
-AXResIisE 1,846,420&*5H 9,233
202 (44| 8,400 16,800 8,400
iy 3,600
Altl 1,800
4| 3,000
01 =2LHOd ] 8,400 16,800 A8,400
EE 0| 280,000& x5 63 8,400
ax 3,600
Altl 1,800
=l 3,000
303 ZAS 6,728 6,655 73
02 43 6,728 6,655 73
O8uman3 1,345,560&*5H 6,728
OlSSEAr2IZEIAF 21 A8l X~ 157,279 154,814 2,465
= 102,400
Albl 7,680
4| 47,199
101 e124d| 152,409 150,124 2,285
= 102,400
Altl 7,680
=t 42,329
03 SRA(RINHS) 22X 2 152,409 150,124 2,285
OO0tsS At 22| AL el124d| 152,409
22, AM22A=Y, EI8NEZa S
32,000,000 +4H 128,000
= 102,400
Altl 7,680
=4l 17,920
Sc|F M| 24,409
-“HEFOHI 1,898,380 *4H 7,5%
-SHHg A 140,000 4% 123 6,720
-JE=g 60,0003 *4F 123 2,880
-AXRSFII==E 1,803,510 *4H 7,215
303 L&z 4,870 4,690 180
02 dt&3 4,870 4,690 180
O&duman3 1,217,2903 #4Y 4,870




2A: SXEA
. HY2IZU(SXEF
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OFS=ZXIWAHXIE AR ZXIAE) Q124H] K& 41,401 42,847 A1,446
= 14,000
Albl 7,000
4| 20,401
101 2124d| 38,503 38,314 189
iy 14,000
Altl 7,000
=t 17,503
03 SRA(RINHS) 222+ 38,503 38,314 189
OO0tS=E X LAHKIGAIZI XA C124H| 38,503
JlEs, EREEZE S
2,700,000+ 12& 32,400
= 14,000
Albl 7,000
4| 11,400
Sc|F M| 6,103
-“HEIOHI 949, 1902 *23| 1,899
-= 4| 140,000& «12& 1,680
-JE=Y 60,000& * 12& 720
-AXReSFII==E 106,088 x 17! 1,804
202 0idl 1,680 3,360 1,680
01 =LHO4 b 1,680 3,360 1,680
Oo&Uodyl 280,0002 x 14 +6& 1,680
303 Za= 1,218 1,173 45
02 83 1,218 1,173 45
OHIAN3 1,217,290& 1,218
OIsESHMERI 212dl XRI& 130,423 121,164 9,259
= 82,940
Altl 10,368
sl 37,115
101 2124t 122,619 110,000 12,619
= 82,940
Altl 10,368
sl 29,311
02 JIEt& 2 84,477 71,858 12,619
OOlsSESHE AIZHIER NI (934 E) 84,477
JlEag, A2t 22", BEg S
70,8%4,000& 70,8%4
= 56,715
AlHI 7,090
sl 7,089
N=E 60,0002 *3H =124 & 2,160
HHZAH| 140,000& *3Z = 1201 & 5,040




SN ST
M HYRAZH(SXFHL)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el ss 50,0002 «38 121 & 1,800
At ad| 6,010 «3& 77 Al 2t 1,389
SExNRrY 88,7203 x3&* 120 2 3,194
03 SR (RIH )22 U2+ 38,142 38,142 0
OOtSESHG (I A= 38,142
123, Aol 224d, BEHE S
32,781,000 32,781
= 26,225
Altl 3,278
Tl 3,278
SE S| 1,803,000 1,803
MG AHI 140,0003 1= 1204 2 1,680
-IOESE 480,000 480
MRSPNES= ol ety 1,398,000& 1,398
202 04l 6,720 10,080 23,360
01 2LHoIH 6,720 10,080 A3,360
O=LH04HI 280,000 x4 H+6E 6,720
303 Za= 1,084 1,084
02 d1tat0is 1,084 1,084
Ood o= 1,084,000 1 1,084
OrsstidE 21y ol2d| XI& 47,816 47,816
101 21AH| 44,456 44,456
02 JIet&R 2= 44,456 44,456
OOFSBITHEE AZHIEIRILDIHI(9Z 422
& ol2H| 44,456
l2g, B8E, Al2tel ¢ S
20,345,60021%22} 40,692
- gl 40,0002 2% 62 1,680
Saxoay 86, 10022262 1,084
e EEERSEES]
43,7503 2B +6E 525
el eS| 43,7502 x2 B 6 525
202 04dl 3,360 3,360
01 =LHNHI 3,360 3,360
O=LH04HI 280,000 x2 & +62 3,360
=238l 75,125 91,243 16,118
JI23Hl 75,125 91,243 16,118
201 2= 21,065 20,719 346
01 At22t2l] 19,065 18,719 346
ORN2g=8H 8,748,000& 8,748
OJlzgf=d Setl 9,677,000& 9,677
OR&d 28| 640,000 640
02 S3=gHl 2,000 2,000 0




2A:

SINESES N}

. HY2IZU(SXEF
&l D122 (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OR®EZ 2,000,000& 2,000
202 0idl 47,040 63,504 AN 16,464
01 =LHO4b| 47,040 63,504 A16,464
OJ 2 R0
280,000 x28H 6 47,040
203 AR F=&lY| 7,020 7,020
01 J|2A2H AR FXIH| 2,700 2,700
OJ223d2 S| 3,000, 000& *90% 2,700
M EA2IHRFALI 4,320 4,320 0
ORN2IYRFA| 4,800,000 x90% 4,320




